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A ZZ=X|E | 1,496,700
AZH| X=X 98,000

1T | Z0O% | 5 | 4784100 SAT TS | 1496700 20214
AZH| 1XAE 98,000
WA 2KHHE | 1,496,700
AZH| 2K 98,000

2 | 204 1 2,998,890 | 2| =H| Z[Z=X|F | 2,998,890 20214
WA 1XHAE 474,600
HAZH| 1XAE 98,000
WA 2XHHE 474,600

3 | 10= 1 2,569,000 | A=EH| 2XtAI%E 98,000 20214
MAHH] 3XHAE 474,600
MAHH] 4XHAE 474,600
WAH| SKFAE 474,600

4 | 204 1 474,600 | ‘4AH| Z[=X[F | 474,600 20214

5 | #HO 1 949,200 SAb| BLZXS | 474600 20214
WA 1XHAE 474,600

6 | HOY 2 1,473,880 | 2| =H| %[Z=X|g | 1,473,880 20214
A E|ZEX|S | 474,600
AZH| X=XF 98,000
AAH 1XAE | 474,600
HAZH| 1XAHE 98,000

7 | o= 1 3,141,600 | HAH| 2XAT | 474,600 20214
A=H| 2K AR 98,000
A 3XHAE | 474,600
AAH 4XFAT | 474,600
AAH| SAFAT | 474,600
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MAH| 1XAE 802,000
407 20214
ClEH| 1XFAZ 98,000
MAHH| X=X | 474,600
208 MAH] 1XFAT 474,600 20214
MAH| 2KtHE 474,600
O|=H| X|=X|Z | 3,000,000
MAH| X=X|Z | 802,000 20214
A= H| X[=EXF 98,000
40s MAH] 1 KA E 826,000
M ZH| 1XFHE 106,700
20224
MAH| 2KHA T 826,000
G ZH| 2KFHE 106,700
MAH| X=X|F | 474,600
204 MAH] 1XFAZ 474,600 20214
MAH] 2KXtAZ 474,600
N O|EH| %|Z=X|Z | 3,000,000
40Z&E 20214
O|=H| 1XtHZ | 3,000,000
MAHH| X=X | 474,600
40= MAH] 1XAE 474,600 20214
MAH| 2KXtHE 474,600
ZoH O|FH| #XX|Z | 3,000,000 20214
MAHH| X|=XF 802,000
HZH| XXX 98,000
40% MAH| 1XpAZE 802,000 20214
M ZH| 1XAHE 98,000
MAH| 2K}HE 802,000




au | aw | TZETERY A | el B
O|gH| Z[=X|& | 675570
A EZ=X|E | 474,600
doH 1 2,197,370 | ‘4AH| 1XtHE 474,600 20214
WAHH| 2XFAZ 474,600
HAZH| X=X 98,000
A=H| ==X|g 98,000
AAH REAZ | 4me0|  O0NE
A AXFAE 488,800
407 1 1,763,600
AZH| 1K 106,700
aAH one | assson| 00T
A= H| 2Kt A 106,700
A H] AXFAE 802,000
Ol 2 1,800,000 A=8] TS 28,000 20214
WA H] 2K A 802,000
A= H| 2Kt A 98,000
AAH| 3XFAT 474,600
d40¢¥ 1 572,600 20214
A= H| 3Kt 98,000
A EZ=X|S | 474,600
A H] AXFAE 474,600
d0¢¥ 1 1,619,800 | 1= H| ZX[=X|Z 98,000 20214
WA 2KFAZ 474,600
A= H| 1K 98,000
AAH ZZE=X|5 | 474,600
A=H| ==X|g 98,000
A AXFAE 474,600
4oz 1 2,945,600 | YAH| 2AAE 474,600 20214
AAH| 3XFAT 474,600
WAHH| AXFAZ 474,600
AAH| SKFAT 474,600
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M A H| X|& | 1,035,000
o ZH| X2 98,000
20214
MAH] 1X+HZ | 1,035,000
22 | 2oy 3,438,700
HZH| 1XFAZ 98,000
MAH| 2XtAZE | 1,066,000
20224
HZH| 2Kt AHE 106,700
MAH| X|Z=XZ | 474,600
20214
HZH| XXX 98,000
MA Y] 1XpHAE 488,800
23 | 207 1,763,600 <
HZH| 1XFAZ 106,700
20224
MAY| 2XpH T 488,800
HZH| 2Kt AHE 106,700
MAH| X|Z=XZ | 474,600
24 | 4O7| 1,423,800 | MAH| 1XtAZ 474,600 20214
MAH| 2KFAR 474,600
25 | Aoy 2,984,840 | o|2H| X[=X|F | 2,984,840 20214
MAH| 3XFAF 474,600
HZH| 3XtAHE 98,000
26 | oA 1,619,800 | M A H| 4XtHZ 474,600 20214
HZH| 4XtHE 98,000
MAH| SKFAF 474,600
WA X=X = 474,600
MAH| 1XFAR 474,600
MAH| 2XpHE 474,600
27 | 2o 2,847,600 — < 20214
MAH| 3KpAZ 474,600
MAH| 4KpAZE 474,600
MAH| SKFAF 474,600
MAH| X =XZ 802,000
28 | 4O= 2,406,000 | ‘HAH| 1XIHE 802,000 20214
MAH| 2KpAZ 802,000
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ag | €8 174 o 0os | D@ | eva E ae
WA X=X = 474,600
N A= H| X=EXF 98,000
05 1,521,800 20214
MAH| 1XFAR 474,600
MAH| 2KpAZE 474,600
MAH| X|Z=XZ | 474,600
MAH| 1 KA 474,600
MAH| 2KFAR 474,600
MAH| 3KFAR 474,600
208 3,043,600 < 20214
MAH| 4XFAR 474,600
A= H| XEXF 98,000
MAH| sKpAZ 474,600
HZH| 1XAHE 98,000
3,000,000 | o|=H| X[Z=X|& | 3,000,000 20214
MAH| X=X|Z | 1,035,000
2,070,000 20214
MAH] 1X+HZ | 1,035,000
MAH| X|Z=X|F | 1,266,900
3,800,700 | A H| 1XFAZE | 1,266,900 20214
MAH] 2XAHZE | 1,266,900
MAH| X =X|Z | 802,000
A= H| X=EXF 98,000
N MAY] 1XpAE 802,000
o3 2,700,000 20214
HZH| 1XAHE 98,000
MAH| 2KpAZE 802,000
HZH| 2KtHE 98,000
goH 1,385,680 | °|=H| X|Z=X|& | 1,385,680 20214
O|=H| X[ZEX|ZF | 3,000,000 | 2021 (=RCHsHZ)
O|FH| X|EX|F | 3,000,000 | 20214 = m A
EHOE=! 8,062,700 | MAH| ==XZ 978,000 N
MA] 1XpAE 978,000 | & ZAEX| 2 1IA|AFS
N RIET PONS
A= H| XEXF 106,700




7t | XS XA ML H| T
a3 88 |7 @) 0 o | 299 Made g
MAH|] 5XFAZ 474,600
EHOr=s 1 572,600 20214
GZH| 3XtAZL 98,000
MAH| X Z=X|Z 802,000
MAH] 1 XA E 802,000
dso2 | 2 2,504,000 |— < 20214
MAH| 2KHE 802,000
HZH| 2KHE 98,000
MAH| X =XF 474,600
GlZH| X[XEX|F 98,000
EHON; 1 1,145,200 20214
MAH] 1XHAZ 474,600
HZH| 1XHE 98,000
MAH| XZ=X|Z | 474,600
BO= 1 1,423,800 | A H| 1XtAZ 474,600 20214
MAH] 2KAZ 474,600
MAH| X =XF 474,600
GlZH| X[XEX|F 98,000
8 O3} 1 1,619,800 | MAH| 1XAZE 474,600 20214
HZH| 1XHE 98,000
MAH| 2KHE 474,600
MAH| X =XF 474,600
GlZH| X[XEX|F 98,000
MAH] 1XAZ 474,600
HOA 1 1,717,800 20214
HZH| 1XHE 98,000
MAH| 2KHE 474,600
HZH| 2KHE 98,000
MAH| X =XF 474,600
20214
GlZH| X[XEX|F 98,000
01 : 763,600 MAH] 1 XA 488,800
e T lZd| 1XHME | 106,700
20224
HZH| 2KHE 106,700
MAH| 2KHE 488,800
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WA ZXEX|Z | 802,000 202144
A= H| Zx[=X|F 98,000
Hos | 2 | 2765400 EAH| 1IAHAT | 826,000
AZH| 1XHH 106,700 202244
MAH] 2KFAT 826,000 -
A= H| 2KtAZE 106,700
MAH] 1 XHAF 474,600
N A= H| (XA 98,000
=0F 1 1,145,200 LTI, 474,600 20214
AZH| 2K A 98,000
MAH| 2Kt AT 474,600
AZH| 2K % 98,000
WAH 3XHAE 474,600
507 1 2,192,400 | GI=EH| 3KtAT 98,000 20214
MAH| 4XtAT 474,600
A= H| 4XtAFE 98,000
MAH| SAHAZE 474,600
WAH| =[X=X|F | 474,600
Az H| Z[=Xg 98,000
A 1 XHAF 474,600
AZH| 1XHH 98,000
HO= 1 3,141,600 | H=EH| 2XOI% 98,000 20214
MAH| 2XHAE 474,600
MAH| 3KHAE 474,600
MAH| 4XtAT 474,600
WAH| SXHAE 474,600
WA ZXEX|F | 474,600
A= H| Z[=X|F 98,000
MAH] 1 XHAT 474,600
HOAM 1 1,717,800 CETRECES, 98,000 20214
MAH| 2XHAE 474,600
A= H| 2KtAZE 98,000




7t | XS XA A MILH S H| T
ad] 88 T4 @ TS | goEy | ads ® A4
49 | 2tOH 2 3,000,000 | o|=H| Z|=X|Z | 3,000,000 20214
20 | etO2 1 3,000,000 | o|=H| Z|=X|Z | 3,000,000 20214
51 | god 1 2,580,030 | °|=H| X|=X|Z | 2,580,030 20214

MAHH| E|=XF 474,600

A= H| XEXF 98,000
20214

N MAH| 1 KA ZE 474,600

52 | 2o 1 1,740,700

HZH| 1XFAZ 98,000

MAY| 2XpH T 488,800
20224

HZH| 2XFAZ 106,700
53 | _OH™ 2 802,000 | MAH| X=XZ 802,000 20214
54 | 08 1 1,856,370 | 2|2 H| X =X|2 | 1,856,370 20214
55 | ROt 1 3,000,000 | ©|&H| *=X|2 | 3,000,000 20214
O|=H| X[=X|Z | 1,013,520 20214

WA X=X = 583,400

56 | |0¢Y 1 2,947,120 | =HH| X=Xz 183,400
20224

MAH| 1 KA ZE 583,400

MAH| 2KAZE 583,400

MAH| X|Z=X|Z | 1,035,000
20214

A= H| X=EXF 98,000

MAH] 1XHAZ | 1,066,000

HZH| 1XFAZ 106,700

57 loow | 3 | 6783100 SA | 2K Y | 1,066,000

e O [z 2xb e ® | 106,700
20224

MAH] 3XAZ | 1,066,000

HZH| 3XFAZL 106,700

MAH] AXtAZ | 1,066,000

MAH| 5XHAZE | 1,066,000
58 | S0= 1 1,195,950 | °|2H| X =X|Z | 1,195,950 20214
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WAH| ZXEX|F | 474,600
WA 1XAY 474,600
MAH| 2XtAE 474,600
f_:EHI ZWE{ 98,000 20211
59 | 0% 1 3,262,500 aAH SHAS 474,600
R H=H| 1AAE 98,000
WAH| 4XtAE 474,600
H=H| 2KAFE 98,000
MAH| SKHAT 488,800 202214
HZH| 3KAH 106,700
WAH| ZXEX|F | 474,600 20214
A= H| Zx[=X|F 98,000
MAH 1RFAE 488,800
H=H| 1AAE 106,700
o MAHH| 2KFAZ 488,800
60 | O 1 3,336,700 CETRECES, 106.700 .
76| 3oIE | 48sg00| 00T
A= H| 3KAH 106,700
MAH| 4XtAE 488,800
MAHH| sKFAZE 488,800
WA x=X|Z | 1,035,000
o MAH 1XFAE | 1,035,000
61 | 200 3 3,203,000 A E 24 | 1035000 20214
Az H| Z[=X|g 98,000
WAH| ZXEX|F | 474,600
o WA 1K AY 474,600
62 | 2O 1 1,521,800 CETIEESIE 98,000 20214
WA 2Kt AT 474,600
WA Z|=X|5 | 474,600
o A 1XHAE 474,600
63 | 0lO% 1 1,521,800 TR 172,600 20214
Az H| Z[=X|g 98,000
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" MAH] 1XHAE 474,600
64 | 0|O%=t 1 572,600 CETIEESIE 38,000 20214
MAH] XEX|Z | 474,600 20214
65 | 0|O& 1 1,423,800 | ‘dAH| 1XKHAT 474,600 20214
MAH| 2XHAE 474,600 20214
66 | 0lO= 4 1,266,900 | MAHH] 2XtAZ | 1,266,900 20214
N O|ZH| X[Z=X|Z | 872,000 | 2021 :zg)
67 | CloF | 2 | 156470 o e R ER= | 692,790 | 2028 @amE
WA ZXEX|F | 474,600
A= H| Z[=X|F 98,000
68 | 0|O= 1 1,619,800 | M A H| 1XFQI=t 474,600 20214
SELTIRENGEES; 98,000
MAH] 2KHAE 474,600
WA ZEX|Z | 1,035,000
AzH| Z[=XF 98,000
MAH] 1XFAZE | 1,035,000
69 | 0lOR | 3 3,399,000 ;;'H: 1 x[odg 96,000 20214
MAH] 2XFAZT | 1,035,000
A= H| 2KtAZE 98,000
WAH| =[EX|F | 1,266,900
Az H| Z[=X5 98,000
WA 1XFAT | 1,266,900
70 | OJOXY 4 7,699,400 | A H| 2XHE | 1,266,900 20214
MAH] 3KFAT | 1,266,900
MAH] 4XFAT | 1,266,900
MAH] 5SKFAZT | 1,266,900
MAH| 3AHAZE 474,600
AZH| 3XAH 98,000
" MAH| 4XtAT 474,600
71 | 0lOdt 1 1,717,800 CETESE 98,000 20214
WAH SXHAE 474,600
H=H| 5AHAZE 98,000
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72 | 0|O%t 2 3,000,000 | 2| =H| %[=Z=X[Z | 3,000,000 20214

73 | OJO¥ 3 500,000 | o|=H| ZX|=X|F 500,000 20214
MAH] XEX|F | 474,600

74 | 0|04 1 1,423,800 | ‘AAH| 1XHAT 474,600 20214
SAH] 2K HY | 474,600
A AHH| X XK=

75 | ol0o= | 2 900,000 ;;'H: 5:E(:gl 882:888 20214
MAH] 1XHAE 474,600
A= H| (XA 98,000

76 | O|lO@ 1 1,145,200 T TRE] 373,600 20214
A= H| 2KtAZE 98,000

77 | o9 1 3,000,000 | °|&H| X|=X|& | 3,000,000 20214
MAH] X EX|Z | 802,000

78 | O|OH 2 2,406,000 | ‘SAH| 1XAT 802,000 20214
MAH] 2KFAT 802,000
WA 1XFAT | 1,035,000
A= H| (XA 98,000

79 | OlO@ 3 2,266,000 SAE 24 | 1035000 20214
A= H| 2KtAZE 98,000

80 | o= 1 3,000,000 | °|&H| X|=X|& | 3,000,000 20214
MAH] ZEXZ | 1,722,100

81 | ozt 6 5,166,300 | ‘A H| 1XFHE | 1,722,100 20214
MAH] 2XHAZ | 1,722,100
WA 3KFAZT | 1,496,700
A= H| 2KtAZE 98,000

o MAH] 4XtAE | 1,496,700 g

82 | o= 5 4,784,100 iz b 3ol 98,000 20214
MAH] sKFAZT | 1,496,700
A= H| 4XtAFE 98,000
AH N

8 | O | 3 | 1,133,000 ;2:: ;igg 1'032:888 20214
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WAH] ZZX|F | 474,600
AzH| Z[=XF 98,000 20211

o8 |1 1740700 A AT 474,600
AzH 1XHAF 98,000
MAH] 2KFAT 488,800 20221
AzH| 2XHAHE 106,700
GAB| ZZ=XE | 474,600
A= H| Zx[=X|F 98,000
M AHH| 1Ko kb

dox | 1,717,800 ;;'H: ué; 4;2:388 20214
MAH| 2XHAE 474,600
A= H| 2KtAZE 98,000
WAH| =[X=X|F | 474,600

Hod 1 1,423,800 | ‘SAH| 1XHE 474,600 20214
MAH| 2Kt AT 474,600
WA ZXEX|F | 1,496,700
Az H| Z[=X5 98,000
A 1XHAT | 1,496,7

Hod 5 4,784,100 OJQH: 1 x[o_wzr 32,088 20214
MAH] 2KFAT | 1,496,700
AZH| 2K % 98,000
WAH] ZZX|F | 474,600

HOE 1 1,423,800 | ‘SAH| 1XHE 474,600 20214
MAH] 2XHAE 474,600

HO=Z 1 3,000,000 | 2|=H| %|ZX|& | 3,000,000 20214
WAH| =[X=X|F | 474,600

Ho=| 1 272000 P B R =AIZ | 98000 20214
WAH] ZZX|F | 474,600
AzH| Z[=XF 98,000 2021
MA ] 1R T 474,600 | (=HelZgULE)
MAH|] 2XFAE 474,600

g0% 1 2,667,000 *ﬁ:ﬂ: EI;XIOE 474,600
ClEH| Z=X5 98,000 20214
MAH] 1RFAT 474,600 | (KIAHZALR)
AZH| 1XHH 98,000
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oel | gy | 7ITE) iES T geE | meed s e
O|&H| X|EX|Z | 3,000,000
2 | =0T 1 6,000,000 ol=H 1X9E | 3000000 20214
WA ZXEX|F | 474,600
HAZH| X|XX|Z 98,000
MAH] 1XHAE 474,600
iz 1A T | 98,000 Wi%f%gif%
icEHIHI MY | 474600 |  SUENE
SAHH| 3KFOE 474,600
N MAH| 4XtAT 474,600
B HOT 1| 4807200 s sReis | 474,600
WA ZXEXF | 474,600
HAZH| X|XX|Z 98,000
YA KT | 488800 | 20215, 30828
Amdl 1IMAY | 106700 | wxiidAuz
WA 2XpAZE 488,800
A= H| 2KtAZE 106,700
WAH| =[X=X|F | 474,600
9 | X|O2 1 1,423,800 | ‘S AH| 1XHAT 474,600 20214
MAH| 2KHAE 474,600
95 | FOE 1 1,858,930 | 2|=H| %|=X|Z | 1,858,930 20214
WA ZXEX|F | 474,600
% | XtO= 1 1,423,800 | ‘SAH| 1X-HE 474,600 20214
MAH| 2XHAE 474,600
WA ZEX|F | 1,266,900
H=H| X=X 98,000 0214
WA X AE | 1266900 | HIERLESAE
A= H| (XA 98,000 AL Eh
MAH] 2KFAT | 1,266,900
97 | HO=x 4 7,945,900 | YAH| % Z=X|F | 1,266,900
HAZH| X|XX|Z 98,000
WA AT 1304900 | 29
Azdl 1MAY | 106700 | wxiidAus
MAH] 2XFAT | 1,066,000
A= H| 2KtAZE 106,700
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x O|&H| ZZ=X|Z | 3,000,000

98 | =[O 1 6,000,000 olza 1A | 3,000,000 20214
WAH| =[ZEX|F | 474,600

99 | O 1 2,394,370 | G&EH| X|EX|Z 98,000 20214
o|zH| ZXX|F | 1,821,770
x O|&H| ZZ=X|Z | 3,000,000

100 | Z[OXt 2 5,533,190 ol=u] TAAE | 2533190 20214
MAH| XEX|F | 474,600

101 | XO& 1 1,423,800 | ‘4 AHH[ 1XtAT 474,600 20214
MAH| 2Kt AZ 474,600

102 | ZOXt 1 572,900 | °|=H| ZX[XX|& | 572,900 20214
O|=H| X[=X|F | 1,311,480
WAL ZEX|F | 1,266,900
A=H| X[=X|F 98,000

103 | ZOXt 4 5,174,280 | ‘A H| 1XtHE | 1,035,000 20214
HA=H| 1KHAZE 98,000
MAH| 2XFAT | 1,266,900
A= H| 2KtAZ 98,000
MAH] 1XFATY | 1,266,900
" AzH| 1XAHE 98,000

104 | Z|O% 4 2,729,800 S0 2K 9E | 1266900 20214
HZH| 2KAHZ 98,000

105 | 2Ot 1 3,000,000 | 2|=H| %|Z=X[Z | 3,000,000 20214
MAH] 1XHAZ 474,600
% Az H| 1AAHE 98,000

106 | ZIOG 1 1,145,200 TETERECES, 474,600 20214
HZH| 2KAZ 98,000

MAH| ZEXZ | 1,722,100 202144

107 | 5lO0= 6 5,217,900 | ‘A H| 1XFAF | 1,722,100 -

MAH| 2XAE | 1,773,700 20224
WAH| ZXEX|F | 474,600

108 | 20H® 1 1,423,800 | ‘S AH[ 1XtAF 474,600 20214
MAH| 2Kt A 474,600
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109 | LINO 1 583,400 | MAH| Z[XX|Z | 583,400 20224
110 | 20w 1 583,400 | HAH| ZZ=X|& | 583,400 20224
A ZZ=XE | 978,000
1M1 | 20T | 2 2,169,400 A=H| AZXS | 106700 20224
WA 1XHAE 978,000
AZH| TR A 106,700
WAH| Z[EX|Z | 488,800
A=H| Z|ZXX[5 | 106,700
12 | 5y ~2 1,786,500 A=8] 1A 106,790 20224
a0t 1 MAH 1XHAR | 488,800
MAHH] 2XHAE 488,800
A ZH| 2K A 106,700
WA Z[EX|Z | 488,800
113 | 4O7% 1 1,573,100 A28l AZHE | 106700 20224
MAHH] 1XHAE 488,800
MAHH] 2XHAE 488,800
A ZZ=X|= | 488,800
114 | 4O= 1 1,466,400 | ‘HAH| 1XpAT 488,800 20224
WA 2XFHAE 488,800
WAH| Z[EX|Z | 488,800
115 | 408 1 1,655,600 | ‘HAH| 1XHAT 583,400 20224
MAHH] 2XHAE 583,400
HAH| ZZ=XlE | 583,400
116 | 4Od 1 1,856,900 SAH N AES 083,400 20224
WAH| 2XpAHZE 583,400
A=H| Z|ZXX[5 | 106,700
HAH| ZZ=XlE | 583,400
117 | 40 1 690,100
A=ZH| XXX | 106,700
AAH 2zAZ | ses0| T
118 | BIO& 1 690,100
A=H| Z|ZXX[Z | 106,700
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HAH| Z[zZ=X|= | 1,066,000

119 | o= | 3 3,304,700 2=H] AENS | 106700 20224
WA 1XHHE | 1,066,000
WA 2XtAE | 1,066,000
WA Z[EX|Z | 488,800

120 | gpya 1 1,466,400 | ‘HAH| 1XpAZE 488,800 20224
WA 2K A 488,800

121 | gfOM 2 2,543,630 | o|2H| X|XX|Z | 2,543,630 20224
A Z=X|= | 826,000
WA A1 XFAT 826,000

122 | 2O+ 2 2,691,400 | H=H| 1XHAF 106,700 20224
WA 2K 826,000
A= H| 2K AR 106,700
A Z=X|= | 488,800
AZH| XEX|Z | 106,700

123 | 2fOS 1 1,679,800 | HAH| 1XAZ 488,800 20224
A= H| 1XAHH 106,700
WA 2K 488,800
WA Z=X|& | 583,400
WA 1XpAE 583,400

124 | 4O™ 1 1,963,600 | ¥ =H| X[Z=X|5 | 106,700 20224
MAH 2XFAZ 583,400
A= H| 1XAHH 106,700
WA Z[EX|Z | 488,800
AZH| XEX|Z | 106,700

125 | =0® 1 1,679,800 | ‘AH| 1X+AT 488,800 20224
AZH| 1XAF 106,700
WA 2K 488,800




of b M 7|‘i% X|-(°,5-II%E),L°_*|| LH”EQMHHQQ%(%) (X|-°£JI—,_I:|5|_T_‘$4
WAHH| X|EX|F | 488,800
A=H[ Z| =X | 106,700

126 | 3071 1 1,786,500 SAB RS 488,800 20224
AZH| 1XAF 106,700
WA 2K A 488,800
A= H| 2K AR 106,700
WAHH| X|EX|F | 488,800
A=H[ Z| =X | 106,700

127 | SO0 1 1,191,000 20224
WA XA 488,800
AZH| 1XAF 106,700
- WA Z=X|& | 583,400

128 | MO% 1 690,100 20224
AZH| X=X|Z | 106,700

129 | MOt 4 3,000,000 | 2|=H| Z|Z=X|& | 3,000,000 20224

130 | 2O+ 2 1,843,140 | 2| &H| X|Z=X|Z | 1,843,140 20224
O|gH| %|EX|Z | 3,000,000

131 | 2O+ 1 4,016,470 20224
ol H| 1XtE | 1,016,470

132 | 2tO&E 1 985,010 | 2|=H| Z[Z=X|5 | 985,010 20224
O|=H| Z[=X|& | 3,000,000

133 | 2tOX] 1 6,000,000 20224
o|=H| 1AtGIE | 3,000,000
WAHH| X|EX|F | 488,800

134 | FO= 1 1,466,400 | ‘HAH| 1XAZ 488,800 20224
WA 2K A 488,800

135 | 0|O%t 1 3,000,000 | o|&=H| Z[zZ=X|& | 3,000,000 20224

136 | O|OXt 1 1,626,100 | 2|2 H| X[=X|F | 1,626,100 20224
WA Z[EX|Z | 826,000

137 | 0|3t 2 2,630,000 | ‘AAH| 1XpATY 826,000 20224
WA 2Kt 978,000
A Z=X|= | 488,800

138 | 0|03t 1 1,466,400 | ‘AH| 1X+AT 488,800 20224
WA 2K A 488,800




oAe | MO 7t | XAZH XML
o o _/lk_ (‘O.L-I) B |_H (o] = 1| H_I:Lou o] OL_Hl_I_E'
o] TOHQl) | (RIFHE L AR)
MAH| X =X|5 | 488,800
5 | ol Gl=EH| XXEX|F 106,700
o8 1 1,679,800 | MAH] 1XtAZ 488,800 20224
M= H| 1XFAHE 106,700
MAH| 2KHE 488,800
MAH| X =X|5 | 488,800
MAH] 1 XA E 488,800
140 | OJOFE | 1 2,932,800 SAR 2RSS | 488800 2
wAE 3xas | assgoo| | 20%%H
MAH| 4XpAZ 488,800
MAH| 5XHAF 488,800
B MAH| X =XZ 978,000
|OH 2 2,934,000 | 24| 1X-HE 978,000 20224
MAB| 2K E 978,000
N B MAH| X|Z=X|Z | 488,800
|O= 1 1,655,600 | A A H| 1XFHZ 583,400 20224
MAH| 2KFHE 583,400
WA X =X|Z 826,000
GEH| X[=X[Z 106,700
MAB| 1XHE 826,000
oz H Xt
143 | 402 | 2 | 5321,400 ;fm: ;i:g; 19579 20224
ol | 2 826,000 -
MAH| 3KFAZ 826,000
MAH| 4XpAZ 826,000
MAH| 5XHAF 978,000
MAH| X|Z=X|Z | 488,800
144 | SOM | 1 1,573,100 Db HEAS | 106700 i
wAE A | assgoo| | 20%%H
MAH| 2KHE 488,800
MAH| X=X | 978,000
145 | HOM | 1| 2169400 o=dl HEXIS | 106700 E
TR
= H| 1XFAHZ 106,700




) o| 10K K| AL S
ad ] <8 7@& . (A%E)I_I L |°4 . FAR) (XI%L_tIElji' AS)
WA Z|EXF 583,400
146 | 2O 1 1,750,200 | ‘S AH| 1KHAF 583,400 20224
MAH| 2XHAF 583,400
MAH| ZXEX|Z | 488,800
MAH] 1XAE 488,800
MAH| 2XFAE 488,800
147 | ZOF 1 2,932,800 gq:u: 3 x[o_qgr 488,300 2022
MAH| 4XtAT 488,800
MAH| SAHAE 488,800
WA ZXEX|T | 488,800
148 | HOA 1 1,655,600 | ‘AAH| 1KHAT 583,400 20224
MAH| 2XHAF 583,400
149 | ZO= 2 2,762,640 | 2| =H| Z[XX|F | 2,762,640 20224
WA Z|EXF 583,400
MAH] 1XAE 583,400
150 | FO= 1 1,963,600 | H=H| %|=X[Z | 106,700 20224
MAH| 2XHAF 583,400
A= H| (XA 106,700
MAH] ZZEX|Z | 1,304,900
A= H| Z|=X[F 106,700
151 | 5107 4 | 4021,400 WA H 1A | 1304900 20224
MAH] 2XFAZT | 1,304,900
152 | 2lOE 1 3,000,000 | 2|=H| %|ZX|& | 3,000,000 20224
WA ZX=X|Z | 488,800
153 | X0 1 1,084,300 | ¥ =H| X=X[F | 106,700 20224
MAH] 1XHAE 488,800
154 | X O7| 1 2,211,350 | 2| &H| X|=X|Z | 2,211,350 20224
155 | ZOZ 1 2,389,360 | 2| 2H| ZX[Z=X|F | 2,389,360 20224
WA ZXEX|F | 1,258,400
156 | =O% 3 1,365,100 SizH| HENZ | 106700 20224
157 | 2O 1 187,780 | 2| =H| %[=X|F 187,780 20224
158 | X|0Y 1 3,000,000 | 2| =H| %[=Z=X[Z | 3,000,000 20224
159 | [0 2 3,000,000 | °|=H| Z|ZX|& | 3,000,000 20224




(-] Q| =L oH K| LAMILES
a8 €8 7@& ) I(_J%E)'_l LK lOAJO i =) (XI%LJHE%é ALR)
MAH| X|EX|F | 488,800
160 | Z[OH 1 977,600 N EREES 488,800 20224
MAH| X|EX|F | 488,800
161 | EOX} 1 1,466,400 | ‘dAH| 1XHHE 488,800 20224
MAH| 2XtAE 488,800
MAH| X|EXF | 826,000
H=H| X|=X[F | 106,700
MAH| 1XAY 826,000
162 | SOA 2 5,366,700 | ‘HAH| 2K % 826,000 20224
MAH| 3XAT 826,000
MAHH| aXAT 978,000
WAH| SKHAT 978,000
WA ZEX|F | 488,800
- HEH| Z=X[F 106,700
163 | 80+ 1 1,191,000 N ERECE, 488,800 20224
H=H| 1AAE 106,700
MAH| X|EX|F | 826,000
WA 1XAY 978,000
— MAHH| 2KFAZ 978,000
164 | 20%® 2 4,844,700 N EEEGE] 578,000 20224
MAH| 4XtAE 978,000
HEH| Z=X[F 106,700
WA ZEX|F | 488,800
H=H| X|=X[F | 106,700
MAH 1RFAE 488,800
- H=H| (XA 106,700
165 | 80N 1 3,240,800 N TERECE] 288,800 20224
WA 3XAY 488,800
MAH| 4XtAE 488,800
WAH| 5XHHE 583,400
HWAH| ZEX|F | 583,400
166 | 2Ot 1 1,750,200 | ‘SAH| 1KFAF 583,400 20224
WA 2Kt AT 583,400




